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[ TVC(c

,b,Ch):( 3,3, 1) '16e+04/25

| TVC(C,b,Ch):( 3,3, 2) I184e+04/25

4187+ 0.0 4195+ 0.0 4212+ 0.0 TVC(C’b’Ch):( 3,33 ) 'zoiezﬁiloz.z
4000 _ﬂl | pl -35.66+ 0.00 4000 _--I | pl -36.48+ 0.00 4000 __- ) | pl -35.92+ 0.00 4000 = ) ' ' ' ! ' ' pl -34.51+ 0.00
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1000 ¢ = 28,05 [ps/ch ] 1000F € = 27.41 [ps/ch ] 10001 © = 27.84 [ps/ch . w00k ¢ = 28,98 [ps/ch] o
0 E— 5‘0 * — 1[;0 = % * 5‘0 E— 1(;0 = L 5‘0 E— 10‘0 o * 5‘0 — ICIIO =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[ TVC(c,b,ch)=(3,3,4) F**>I | TVC(c,b,ch)=(3,3,5) F***] [TVC(c,b,ch)=(3,3 6) F***| [TVC(cbch)=(3 3 7) >
4000, ! [pr 34182000 4000 | ! [pr 35202 000 4000 e, ! [pr 521000 4000 ! [pr  -3455: 000
3000 ] 3000 ] 3000 - — 3000 ]
2000 _ 2000 - 2000 :— —: 2000 |- _
10001 C = 29.26 [ps/ch] 1] 1o ] 100 € = 28.15 [ps/chN, - 1 1000F C = 28,94 [ps/ch]\, 1]

3 % o ; % o 5 % B s % o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[ TVC(c.b,ch)=(3,3,8) ™| [TVC(c,b,ch)=(3,3,9) F“*>*| [TVC(c,b,ch)=(3,3,10) [*>>*| [TVC(c,b,ch)=(3,3, 11) 7=
4000, T | p1 -35.19+ 0.00 4000, T | p1 -34.69:+ 0.00 4000 - T | p1 -35.57+ 0.00 4000 £ T | p1 -36.61% 0.00
3000 ] 3000 ] 3000 ] 3000 ]
2000 - 2000 |- 4 2000 ] 2000 B
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B
TP delay [ns]



[ TVC(c,b,ch)=(3,4,0) F**>} [TVC(c,b,ch)=(3,4,1) F=*>>I [TVC(c,b,ch)=(3,4,2) f*>>] [TVC(c,bch)=(3,4,3) fu=
4000, - T T T T T |pl -36.67+ 0.00 L L -36.2£ 0.0 4000 B, |p1 -35.76 % 0.00 4000, 7T T L 62 000
3000[- ] 3000[- ] 3000 ] 3000} h
2000 ] 2000 ] 2000 ] 2000 ]
1000k ¢ = 27,27 [ps/ch ] w0l ¢ = 27 63 [ps/ch ] ool ¢ = 27.97 [ps/ch . 100k © = 27,16 [ps/ch ]

- T/ R K ""5})""160'- 'slo""lolol-- 0 o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

(VCeheh=E.2d) Forr| [IVCehben=(3.25) o] [TVCehen=(3.26) Fro| [IVCEhbeh=G.A4 1) forrs
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3000 ] 3000 ] 3000 ] 3000 ]
2000 ] 2000 ] 2000 ] 2000 ]
10001 ¢ = 27.75 [ps/ch ] 1000 C = 27.25 [ps/ch b w00k C = 26.76 [ps/ch . 1000F ¢ = 27.83 [ps/ch ]

; % o % % o % o ; % o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[ TVC(c.b,ch)=(3,4,8) F™*>| [TVC(c,b,ch)=(3,4,9) J=>'>| [TVC(c,b,ch)=(3,4,10) f*>*| [TVC(c,b,ch)=(3, 4, 11) o>
4000, T | pl 343+ 0.0 4000 &, T | pl -34.86+ 0.00 4000 - T | pl -35.76+ 0.00 4000, T | pl -34.92+ 0.00
3000 - 3000 - 3000:— — 3000 E
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[TVC(cb.ch)=(3.5,0) 7=
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B | pl -36.23:+ 0.00
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| TVC(C,b,Ch):( 3, 6, 0) '263e+04/25
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[ TVC(c,b,ch)=(3,6,4) F=*'>I | TVC(c,b,ch)=(3,6,5) F=*"*] [TVC(c,b,ch)=(3,6,6) F**>*| [TVC(cbch)=(3 6, 7) J>
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[ TVC(c,b,ch)=(3,8,0) == [ TVC(c,b,ch)=(3,8,1) == [ TVC(c,b,ch)=(3,8,2) == [ TVC(c,b,ch)=(3,8,3) ==

4216+ 0.0 4195+ 0.0 4197+ 0.0 4228 + 0.0

4000, F ot T T T | p1 -37.29+ 0.00 ] L -35.47+ 0.00 4000, C | p1 -35.92+ 0.00 LU L MY -37.07 % 0.00
3000 ] 3000 ] 3000[- ] 3000} ]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(C,b,Ch):( 3,8, 4) I242e+04/25

TVC(C,b,Ch):( 3,8, 5) I155e+04/25

TVC(C,b,Ch):( 3,8, 6) |259e+04/25
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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[TVC(cb,ch)=(3,9,0) F=*"?| [TVC(c,b,ch)=(3,9,1) | /=] [TVC(c,b,ch)=(3,9,2) Jro>
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4000 [ ! | p1 349+ 0.0 4000 ! | p1 -35.97+ 0.00 4000 ! | pl -35.87+ 0.00 4000 [ ! | p1 -34.98 + 0.00
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[TvC(c,b,ch)=(3,10,0) =*'#] [TVC(c,b,ch)=(3,10,1) F*=*'#] [TVC(c,b,ch)=(3,10,2) F**'*] [TVC(c,b,ch)=(3, 10,3) f=*'®

4216+ 0.0 4218+ 0.0 4216+ 0.0 4217+ 0.0

4000fm T T | p1 -36.84+ 0.00 L L P -37.82+ 0.00 4000 _‘—_' T | p1 -37.29+ 0.00 4000, F T T T T T T -35.91+ 0.00
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